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This is the proposed structure obtained by C
AST/C

N
M

R
 Structure Elucidator 1) for query of natural arom

in 13C
 N

M
R

 data
2) in the 

condition w
ithin 0.5 ppm

 error. This result w
as based on the com

plete m
atching for data of m

ontanacin D
 (32) and its 4,8-di-epim

er.
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M
ontanacin D

 (32) 3) w
as found in the search system

 by C
AST/C

N
M

R
 Structure Elucidator for the query of arom

in 13C
 N

M
R

 data.
The green lines m

ean com
plete m

atched carbons.
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4,8-D
i-epi-m

ontanacin D
3) w

as also found by the search system
 in the sam

e condition as for m
ontancin D

 (32).
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13C
 N

M
R

 data of synthesized 1 did not m
atch w

ith those reported of the natural arom
in because of sm

all difference on the 
oxygenated m

ethin carbon (C
-4). The balck lines except for the butenolide region

4) m
ean m

iss-m
atched carbons.
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13C
 N

M
R

 data of 4,7-di-epim
er (31) also did not m

atch w
ith those reported of the natural arom

in. The balck lines except for the 
butenolide region

4) m
ean m

iss-m
atched carbons.
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13C
 N

M
R

 data of m
ontanacin E (and other related synthetic diasteroisom

ers) 5) did not m
atch w

ith those reported of the natural 
arom

in.
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